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COMPRIMENTO

TOTALUNIT

POS BIT QUANT

(cm) (cm)

(mm)

AÇO

P1

     50A   1    10     4    277    1108

     50A   2    10     4    140     560

     60B   3     5    31     78    2418

P2

     50A   1    10     4    277    1108

     50A   2    10     4    140     560

     60B   3     5    31     78    2418

P3

     50A   1    12.5    6    277    1662

     50A   2    12.5    6    165     990

     50A   3     6.3   29     81    2349

P9

     50A   1    10     6    307    1842

     50A   2    10     6    140     840

     60B   3     5    33     98    3234

     60B   4     5    33     22     726

P11

     50A   1    10     6    307    1842

     50A   2    10     6    140     840

     60B   3     5    33     98    3234

     60B   4     5    33     22     726

P12

     50A   1    10     6    307    1842

     50A   2    10     6    140     840

     60B   3     5    33     98    3234

     60B   4     5    33     22     726

P13

     50A   1    10     4    277    1108

     50A   2    10     4    140     560

     60B   3     5    31     78    2418

P15

     50A   1    12.5    6    277    1662

     50A   2    12.5    6    150     900

     50A   3     6.3   24    101    2424

     50A   4     6.3   24     25     600

P17

     50A   1    12.5    4    277    1108

     50A   2    12.5    4    150     600

     50A   3     6.3   24     81    1944

COMPR PESO

(mm) (m) (kg)

BIT

RESUMO AÇO CA  50-60

AÇO

     191      31    5       60B

      73      18    6.3     50A

     131      82   10       50A

      69      69   12.5     50A

Peso Total        60B =      31 kg

Peso Total        50A =     170 kg

TITULO

DATA ESCALA
ENG .

o

CLIENTE

OBRA

OBRA N .

o

DES. N .

o

o

REV. N .

VERIF.DESENHOFCK

30

1
5

5 N2 C/18

5
N

1
C

/
1
8

5 N2 C/18

3
4

3
4

74

5
N

1
C

/
1
8

34

34

7
4

80

8
0

4
0

40

4
0

40

5

5

S1

( 9 X ) (Esc 1:25)

5 N1 C/18 C=142

5
N

2
C

/
1
8

C
=

1
4
2

Ø 10

Ø
 
1
0

20

2
0

5 N2 C/18

5
N

1
C

/
1
8

5 N2 C/18

3
4

3
4

74

5
N

1
C

/
1
8

34

34

7
4

80

8
0

4
0

40

4
0

40

5

5

S2

( 8 X ) (Esc 1:25)

5 N1 C/18 C=142

5
N

2
C

/
1
8

C
=

1
4
2

Ø 8

Ø
 
8

COMPRIMENTO

TOTALUNIT

POS BIT QUANT

(cm) (cm)

(mm)

AÇO

S1   (X9)

     50A   1    10    45    142    6390

     50A   2    10    45    142    6390

S2   (X8)

     50A   1     8    40    142    5680

     50A   2     8    40    142    5680

COMPR PESO

(mm) (m) (kg)

BIT

RESUMO AÇO CA  50-60

AÇO

     114      45    8       50A

     128      81   10       50A

Peso Total        50A =     126 kg

25 Mpa
08/08/2013
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